On Sendov's Conjecture for Roots near the Unit Circle

MICHAEL J. MILLER

Department of Mathematics, Le Moyne College, Syracuse, New York 13214 Submitted by Steven G. Krantz Received June 10, 1991

1. Introduction

Sendov's conjecture asserts that, if a polynomial (with complex coefficients) has all its roots in the unit disk, then within one unit of each of its roots lies a root of its derivative. First advanced in 1962, this conjecture has given rise to over 30 papers (for references see [1, 3]), but has been verified in general only for polynomials of degree less than 6. In this paper, we verify Sendov's conjecture for roots which are sufficiently close to the unit circle.

Let n be an integer greater than 1, and let β be a complex number of modulus at most 1. Define $S(n, \beta)$ to be the set of complex polynomials of degree n with all roots in the unit disk and at least one root at β . For any polynomial P of degree at least 2, let $|P|_{\beta}$ be the distance between β and the closest root of P'. In this notation, Sendov's conjecture becomes

Conjecture 1. If $P \in S(n, \beta)$, then $|P|_{\beta} \le 1$.

To date, the only known examples of polynomials $P \in S(n, \beta)$ with $|P|_{\beta} = 1$ occur when $|\beta| = 1$. As such, obvious values of β to check for counterexamples to Sendov's conjecture are those on or near the unit circle.

We will assume (by rotation) that $0 \le \beta \le 1$. In [2], Rubinstein verified Sendov's conjecture for roots on the unit circle, by proving

THEOREM 2. If $P \in S(n, 1)$, then $|P|_1 \le 1$, with equality only if $P(z) = c(z^n - 1)$.

In this paper, we verify Sendov's conjecture for roots sufficiently close to the unit circle, as a consequence of

THEOREM 3. There are constants $K_n > 0$ so that, if β is sufficiently close to 1 and $P \in S(n+1, \beta)$, then $|P|_{\beta} \le 1 - K_n(1-\beta)$. Furthermore, one can choose the K_n so that $\lim_{n \to \infty} K_n = 1/3$.

532

0022-247X/93 \$5.00

Copyright © 1993 by Academic Press, Inc. All rights of reproduction in any form reserved. Note that, while the first statement of Theorem 3 is plausible if one believes Sendov's conjecture, the fact that the limit of the K_n does not approach 0 is quite startling. Indeed, Theorem 3 hints at the existence of a result which is even stronger than Sendov's conjecture.

For $P \in S(2, \beta)$, it can be easily seen that $|P|_{\beta} \le (1 + \beta)/2$, and so we may choose $K_1 = 1/2$. Thus, it will suffice to prove Theorem 3 for $n \ge 2$.

By choosing $K_n \le 1$ we will take care of the case when $|P|_{\beta} \le \beta$, for then $|P|_{\beta} \le 1 - (1 - \beta) \le 1 - K_n(1 - \beta)$. Define $T(n, \beta)$ to be the set of polynomials $P \in S(n, \beta)$ such that P' is monic and $|P|_{\beta} > \beta$. It will thus suffice to prove Theorem 3 for those polynomials $P \in T(n+1, \beta)$.

2. Approximating the Roots of P

We will prove Theorem 3 by showing that, if the roots of P are in the unit disk, then the roots of P' cannot be too far from β . To accomplish this, we will approximate the roots of P in terms of the coefficients of P', making use of

LEMMA 4. If $P'(w_0) \neq 0$, then there is a root z of P so that $|z - w_0| \leq n |P(w_0)/P'(w_0)|$.

Proof. If $P(w_0) = 0$, then take $z = w_0$. Otherwise, suppose that the roots of P are $z_1, ..., z_n$. Then

$$\left| \frac{P'(w_0)}{P(w_0)} \right| = \left| \sum_{i=1}^n \frac{1}{w_0 - z_i} \right| \le \sum_{i=1}^n \frac{1}{|w_0 - z_i|},$$

so for some i, we have $|w_0 - z_i| \le n |P(w_0)/P'(w_0)|$.

If b_{ε} is a complex number depending on ε , we define $b_{\varepsilon} = \mathcal{O}(\varepsilon^m)$ to mean that there is a constant C (which depends only on the integer n from Theorem 3) such that for all sufficiently small $\varepsilon > 0$, we have $|b_{\varepsilon}| < C\varepsilon^m$. We define $b_{\varepsilon} = d_{\varepsilon} + \mathcal{O}(\varepsilon^m)$ to mean that $b_{\varepsilon} - d_{\varepsilon} = \mathcal{O}(\varepsilon^m)$.

Take any polynomial $P \in T(n+1, \beta)$ and write

$$P'(z) = \prod_{i=1}^{n} (z - \zeta_i) = \sum_{k=0}^{n} a_k z^k.$$

If β is close to 1, then the roots of P' must be close to 0. (This follows from the observation that any sequence of polynomials $P_k \in T(n+1, \beta_k)$ with β_k tending to 1 has by compactness a subsequence which converges to a polynomial $P \in S(n+1, 1)$ with $|P|_1 \ge 1$. By Theorem 2 this polynomial must be of the form $P(z) = c(z^{n+1} - 1)$, so the roots of the P'_k tend to the roots of P', which are all 0.) Thus, given any $\varepsilon > 0$, we may choose β sufficiently close to 1 so that each $|\zeta_j| \le \varepsilon$. Since each a_{n-m} is (plus or

minus) the *m*th elementary symmetric function of $\zeta_1, ..., \zeta_n$, we have $|a_{n-m}| \leq {n \choose m} \varepsilon^m$ and so $a_{n-m} = \mathcal{O}(\varepsilon^m)$.

Our only requirement on β is that it be sufficiently close to 1, so (taking β larger if necessary) we may assume without loss of generality that $\beta \ge 1 - \varepsilon^2$. Then $\beta = 1 + \mathcal{O}(\varepsilon^2)$, and thus $\beta^k = [1 + (\beta - 1)]^k = 1 + \binom{k}{1}(\beta - 1) + \cdots = 1 + \mathcal{O}(\varepsilon^2)$.

By choice of β , the roots of P are close to the roots of $z^{n+1}-1$. Using Lemma 4, we provide an $\mathcal{O}(\varepsilon^2)$ approximation to the roots of P in terms of the coefficients of P' via

LEMMA 5. For every root z_0 of $z^{n+1} - 1 = 0$, there is a root z_ε of P so that $z_\varepsilon = z_0 + a_{n-1}(z_0 - 1)/n + \mathcal{O}(\varepsilon^2)$.

Proof. Recall that $\beta^k = 1 + \mathcal{O}(\epsilon^2)$, that $a_{n-1} = \mathcal{O}(\epsilon^1)$, and that for m > 1 we have $a_{n-m} = \mathcal{O}(\epsilon^2)$. Let $w_0 = z_0 + a_{n-1}(z_0 - 1)/n$, and note that by the binomial theorem, we have

$$w_0^k = z_0^k + k z_0^{k-1} a_{n-1} (z_0 - 1)/n + \mathcal{O}(\varepsilon^2).$$

Then

$$P(w_0) = \int_{\beta}^{w_0} P'(w) dw$$

$$= \sum_{k=0}^{n} \frac{a_k (w_0^{k+1} - \beta^{k+1})}{k+1}$$

$$= \frac{w_0^{n+1} - \beta^{n+1}}{n+1} + \frac{a_{n-1} (w_0^n - \beta^n)}{n} + \mathcal{O}(\varepsilon^2)$$

$$= \frac{(z_0^{n+1} + (n+1) z_0^n a_{n-1} (z_0 - 1)/n) - 1}{n+1}$$

$$+ \frac{a_{n-1} (z_0^n - 1)}{n} + \mathcal{O}(\varepsilon^2)$$

$$= \frac{a_{n-1} z_0^n (z_0 - 1)}{n} + \frac{a_{n-1} (z_0^n - 1)}{n} + \mathcal{O}(\varepsilon^2)$$

$$= \mathcal{O}(\varepsilon^2).$$

Further, $P'(w_0) = \sum_{k=0}^n a_k w_0^k = w_0^n + \mathcal{O}(\varepsilon^1) = z_0^n + \mathcal{O}(\varepsilon^1)$. Thus for sufficiently small ε (depending only on n), we have $P'(w_0) \neq 0$ and $P(w_0)/P'(w_0) = \mathcal{O}(\varepsilon^2)$, so by Lemma 4, there is a root z_{ε} of P such that $z_{\varepsilon} = w_0 + \mathcal{O}(\varepsilon^2)$.

If b_{ε} is a real number depending on ε , we define $b_{\varepsilon} < \mathcal{O}(\varepsilon^m)$ to mean that there is a constant C (which may be either positive or negative, and which

depends only on the integer n from Theorem 3) such that for all sufficiently small $\varepsilon > 0$, we have $b_{\varepsilon} < C\varepsilon^{m}$. Define $b_{\varepsilon} > \mathcal{O}(\varepsilon^{m})$ similarly.

We now estimate the coefficients of P' with

Proposition 6. (1) $a_{n-1} = \mathcal{O}(\varepsilon^2)$.

(2)
$$\Re(a_{n-2}) = (1/2) \sum_{i=1}^{n} |\zeta_i|^2 + \mathcal{O}(\varepsilon^4).$$

Proof. Since $P \in T(n+1, \beta)$ we know that $|P|_{\beta} > \beta$, so each $|\beta - \zeta_j| > \beta$. This implies that $\beta^2 - 2\beta \Re(\zeta_j) + |\zeta_j|^2 > \beta^2$, and hence that $\Re(\zeta_j) < |\zeta_j|^2/(2\beta)$. Since by choice of β each $|\zeta_j| \le \varepsilon$, we have that $\Re(\zeta_j) < \mathcal{O}(\varepsilon^2)$. Since $a_{n-1} = -\sum_{j=1}^n \zeta_j$, it follows that $\Re(a_{n-1}) > \mathcal{O}(\varepsilon^2)$.

 $\Re(\zeta_j) < \mathcal{O}(\varepsilon^2)$. Since $a_{n-1} = -\sum_{j=1}^n \zeta_j$, it follows that $\Re(a_{n-1}) > \mathcal{O}(\varepsilon^2)$. Let $z_1, ..., z_{n+1}$ be the roots of $z^{n+1} - 1 = 0$. We know by Lemma 5 that for each z_i there is a root z_i of P so that

$$z_{\varepsilon} = z_i + a_{n-1}(z_i - 1)/n + \mathcal{O}(\varepsilon^2).$$

Since z_{ε}/z_{i} is in the unit disk, we have $\Re(z_{\varepsilon}/z_{i}) \leq 1$ and so

$$\Re[1+a_{n-1}(1-\overline{z_i})/n] < 1+\mathcal{O}(\varepsilon^2).$$

Solving this inequality for $\Re(\overline{z_i}a_{n-1})$, we get $\Re(\overline{z_i}a_{n-1}) > \Re(a_{n-1}) + \mathcal{O}(\epsilon^2)$. We have shown that $\Re(a_{n-1}) > \mathcal{O}(\epsilon^2)$, so $\Re(\overline{z_i}a_{n-1}) > \mathcal{O}(\epsilon^2)$. This implies that there is a constant C > 0 so that $\Re(\overline{z_i}a_{n-1}) > -C\epsilon^2$ for i = 1, ..., n+1. Thus, a_{n-1} is located in a regular (n+1)-gon, each of whose sides is at a distance of $C\epsilon^2$ from the origin, and so $a_{n-1} = \mathcal{O}(\epsilon^2)$, which verifies the first statement of Proposition 6.

A simple computation provides that $(a_{n-1})^2 = 2a_{n-2} + \sum_{j=1}^n \zeta_j^2$. We have just proved that $a_{n-1} = \mathcal{O}(\varepsilon^2)$, and so $a_{n-2} = -(1/2) \sum_{j=1}^n \zeta_j^2 + \mathcal{O}(\varepsilon^4)$. We have shown that each $\Re(\zeta_j) < \mathcal{O}(\varepsilon^2)$, and we know that $\Re(\zeta_1 + \dots + \zeta_n) = -\Re(a_{n-1}) > \mathcal{O}(\varepsilon^2)$, so each $\Re(\zeta_j) > \mathcal{O}(\varepsilon^2)$ and hence each $\Re(\zeta_j) = \mathcal{O}(\varepsilon^2)$. This implies that $\Re(\zeta_j^2) = -|\zeta_j|^2 + \mathcal{O}(\varepsilon^4)$, so $\Re(a_{n-2}) = (1/2) \sum_{j=1}^n |\zeta_j|^2 + \mathcal{O}(\varepsilon^4)$. This completes the proof of Proposition 6.

Having proved that $a_{n-1} = \mathcal{O}(\varepsilon^2)$, we are now able to provide an $\mathcal{O}(\varepsilon^3)$ approximation to the roots of P via

Lemma 7. For every root z_0 of $z^{n+1}-1=0$, there is a root z_ε of P so that

$$z_{\varepsilon} = \beta z_0 + \frac{a_{n-1}(z_0 - 1)}{n} + \frac{a_{n-2}(z_0 - \overline{z_0})}{n-1} + \mathcal{O}(\varepsilon^3).$$

Proof. Let

$$w_1 = \frac{a_{n-1}(z_0 - 1)}{n} + \frac{a_{n-2}(z_0 - \overline{z_0})}{n - 1}$$

and let $w_0 = \beta z_0 + w_1$. Recall that $\beta^k = 1 + \mathcal{O}(\epsilon^2)$, and note that $a_{n-m} = \mathcal{O}(\epsilon^2)$ for $m \ge 1$, so $w_1 = \mathcal{O}(\epsilon^2)$. Now for any positive integer k, we have

$$w_0^k - \beta^k = (\beta z_0 + w_1)^k - \beta^k$$

= $\beta^k z_0^k + k \beta^{k-1} z_0^{k-1} w_1 - \beta^k + \mathcal{O}(\varepsilon^4)$
= $\beta^k (z_0^k - 1) + k z_0^{k-1} w_1 + \mathcal{O}(\varepsilon^4)$,

so $w_0^{n+1} - \beta^{n+1} = (n+1) z_0^n w_1 + \mathcal{O}(\varepsilon^4)$, and for $k \le n$ we have $w_0^k - \beta^k = z_0^k - 1 + \mathcal{O}(\varepsilon^2)$. Then

$$P(w_0) = \int_{\beta}^{w_0} P'(w) dw$$

$$= \sum_{k=0}^{n} \frac{a_k (w_0^{k+1} - \beta^{k+1})}{k+1}$$

$$= \frac{w_0^{n+1} - \beta^{n+1}}{n+1} + \frac{a_{n-1} (w_0^n - \beta^n)}{n}$$

$$+ \frac{a_{n-2} (w_0^{n-1} - \beta^{n-1})}{n-1} + \mathcal{O}(\varepsilon^3)$$

$$= z_0^n w_1 + \frac{a_{n-1} (z_0^n - 1)}{n} + \frac{a_{n-2} (z_0^{n-1} - 1)}{n-1} + \mathcal{O}(\varepsilon^3)$$

$$= \mathcal{O}(\varepsilon^3) \qquad \text{(by choice of } w_1\text{)}.$$

Now $P'(w_0) = \sum_{k=0}^n a_k w_0^k = w_0^n + \mathcal{O}(\varepsilon^2) = z_0^n + \mathcal{O}(\varepsilon^2)$. Thus for sufficiently small ε (depending only on n), we have $P'(w_0) \neq 0$ and $P(w_0)/P'(w_0) = \mathcal{O}(\varepsilon^3)$, so by Lemma 4, there is a root z_{ε} of P such that $z_{\varepsilon} = w_0 + \mathcal{O}(\varepsilon^3)$.

3. Proof of Theorem 3

We now provide a bound for $|P|_{\beta}$ via

PROPOSITION 8. Suppose that $z_1, ..., z_m$ are roots of $z^{n+1} - 1 = 0$, not all 1, such that $\sum_{i=1}^m z_i$ and $\sum_{i=1}^m z_i^2$ are real, and such that $\sum_{i=1}^m z_i^2 \leqslant \sum_{i=1}^m z_i$. Choose any C with $(\sum_{i=1}^m z_i)/m < C < 1$. Then for every β sufficiently close to 1, we have $|P|_{\beta} < 1 - (1 - \beta) C/(C - 1)$.

Proof. Note first that for each j we have

$$|P|_{\beta}^{2} \le |\zeta_{i} - \beta|^{2} = |\zeta_{i}|^{2} - 2\beta\Re(\zeta_{i}) + \beta^{2},$$



and average these inequalities over all j to obtain

$$|P|_{\beta}^{2} \le \frac{1}{n} \sum_{j=1}^{n} |\zeta_{j}|^{2} + \frac{2\beta}{n} \Re(a_{n-1}) + \beta^{2}.$$
 (*)

To estimate $|P|_{\beta}$, we will produce an $\mathcal{O}(\varepsilon^3)$ bound for $\Re(a_{n-1})$. We know by Lemma 7 that for every z_i there is a root z_{ε} of P so that

$$z_{\varepsilon} = \beta z_i + \frac{a_{n-1}(z_i - 1)}{n} + \frac{a_{n-2}(z_i - \overline{z_i})}{n-1} + \mathcal{O}(\varepsilon^3).$$

Since z_{ε}/z_{i} is in the unit disk, we have $\Re(z_{\varepsilon}/z_{i}) \leq 1$, and so

$$\beta + \Re\left[\frac{a_{n-1}(1-\overline{z_i})}{n}\right] + \Re\left[\frac{a_{n-2}(1-\overline{z_i}^2)}{n-1}\right] < 1 + \mathcal{O}(\varepsilon^3).$$

Averaging these inequalities over $z_1, ..., z_m$, and recalling that by hypothesis $\sum_{i=1}^m z_i$ and $\sum_{i=1}^m z_i^2$ are real, we obtain

$$\beta + \frac{\Re(a_{n-1})}{n} \left[1 - \frac{1}{m} \sum_{i=1}^{m} z_i \right] + \frac{\Re(a_{n-2})}{n-1} \left[1 - \frac{1}{m} \sum_{i=1}^{m} z_i^2 \right] < 1 + \mathcal{O}(\varepsilon^3).$$

Solving for $\Re(a_{n-1})$, and recalling that by Proposition 6 we have $\Re(a_{n-2}) = (1/2) \sum_{j=1}^{n} |\zeta_j|^2 + \mathcal{O}(\varepsilon^4)$, we get

$$\Re(a_{n-1}) < \frac{n(1-\beta)}{1-(\sum_{i=1}^{m} z_i)/m} - \frac{n}{(n-1)} \left[\frac{1-(\sum_{i=1}^{m} z_i^2)/m}{1-(\sum_{i=1}^{m} z_i)/m} \right] \left[\frac{1}{2} \sum_{j=1}^{n} |\zeta_j|^2 \right] + \mathcal{O}(\varepsilon^3).$$

Let $D = (\sum_{i=1}^m z_i)/m$. By hypothesis $\sum_{i=1}^m z_i^2 \le \sum_{i=1}^m z_i$, so

$$\Re(a_{n-1}) < \frac{n(1-\beta)}{1-D} - \frac{n}{2(n-1)} \sum_{j=1}^{n} |\zeta_{j}|^{2} + \mathcal{O}(\varepsilon^{3}).$$

Substituting this bound for $\Re(a_{n-1})$ into inequality (*), we obtain

$$|P|_{\beta}^{2} \le \sum_{j=1}^{n} |\zeta_{j}|^{2} \left(\frac{1}{n} - \frac{\beta}{n-1} \right) + \frac{2\beta(1-\beta)}{1-D} + \beta^{2} + \mathcal{O}(\varepsilon^{3}).$$
 (**)

Our only requirement on β is that it be sufficiently close to 1, so (taking β larger if necessary) we may assume without loss of generality that $1/n < \beta/(n-1)$.

The result (**) is true for all polynomials $P \in T(n+1, \beta)$, as long as ε is sufficiently small (depending only on n) and β is sufficiently close to 1 (requiring only that each $|\zeta_j| \le \varepsilon$ and that $\beta \ge 1 - \varepsilon^2$). Thus for any particular polynomial $P \in T(n+1, \beta)$, by taking ε smaller still, we may assume without loss of generality that either some $|\zeta_j| = \varepsilon$ or that $\beta = 1 - \varepsilon^2$.

If some $|\zeta_i| = \varepsilon$, then

$$\sum_{j=1}^{n} |\zeta_{j}|^{2} \left(\frac{1}{n} - \frac{\beta}{n-1} \right) + \mathcal{O}(\varepsilon^{3}) < \left(\frac{1}{n} - \frac{\beta}{n-1} \right) \varepsilon^{2} + \mathcal{O}(\varepsilon^{3})$$

$$< 0 \qquad \text{for sufficiently small } \varepsilon.$$

If instead we have that $\beta = 1 - \varepsilon^2$, then

$$\sum_{j=1}^{n} |\zeta_{j}|^{2} \left(\frac{1}{n} - \frac{\beta}{n-1} \right) + \mathcal{O}(\varepsilon^{3}) < \mathcal{O}(\varepsilon^{3}) = \mathcal{O}(1-\beta)^{3/2}.$$

In either case, inequality (**) implies that

$$|P|_{\beta}^{2} < \beta^{2} + \frac{2\beta(1-\beta)}{1-D} + \mathcal{O}(1-\beta)^{3/2},$$

and so (using the inequality $\sqrt{\beta^2 + 2x} < \beta + x/\beta$) we have

$$|P|_{\beta} < \beta + \frac{1-\beta}{1-D} + \mathcal{O}(1-\beta)^{3/2}.$$

By hypothesis C > D, so for β sufficiently close to 1 we have

$$\frac{1-\beta}{1-D} + \mathcal{O}(1-\beta)^{3/2} < \frac{1-\beta}{1-C}$$

so

$$|P|_{\beta} < \beta + \frac{1-\beta}{1-C} = 1 - (1-\beta)\frac{C}{C-1}$$
.

We now prove the first conclusion of Theorem 3. Let $z_1, ..., z_n$ be the roots of $z^{n+1}-1=0$ which are not 1. Since $n \ge 2$ it follows that $\sum_{i=1}^n z_i^2 = \sum_{i=1}^n z_i = -1$, so we may choose m=n and C=-1/(n+1) in Proposition 8, and hence $K_n = C/(C-1) = 1/(n+2)$ in the first conclusion of Theorem 3.

To prove the second conclusion of Theorem 3, we first choose any C such that -1/2 < C < 0. For sufficiently large n, there will always be a root z_0 of $z^{n+1} - 1 = 0$ with $-1/2 < \Re(z_0) < C$. For such a root, $\Re(z_0^2) < -1/2$,

so $z_0^2 + \overline{z_0}^2 < -1 < z_0 + \overline{z_0}$. Since $C > (z_0 + \overline{z_0})/2$, we may by Proposition 8 with m = 2 choose $K_n = C/(C-1)$. Let C tend to -1/2 to finish the proof of Theorem 3.

REFERENCES

- M. MARDEN, Conjectures on the critical points of a polynomial, Amer. Math. Monthly 90 (1983), 267-276.
- 2. Z. Rubinstein, On a problem of Ilyeff, Pacific J. Math. 26 (1968), 159-161.
- 3. Q. I. RAHMAN AND Q. M. TARIQ, On a problem related to the conjecture of Sendov about the critical points of a polynomial, *Canad. Math. Bull.* 30 (1987), 476-480.